1 2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A |NEW RELEASE YCH 03/31/11’ N LJIC 03/31/11
B |ADD P/N CODE YCH 12/07/13 o
NOTES:
il
= - - 1. METAL HOOD MATERIAL: Znic alloy
1 0400 | 2 PART NUMBER CODE:
— DS1047-01 — 09 X X — X
[ : - : 1LOGO Support
”’*’% B X: W/0 LOGO
— | 9l o > N/A: CONNFLY LOGO
I 2 i Packing type
N : F —- 25.00 : 1: Mix packing
N | 2: Separation packing
| - Cover Material
T T 1 L | M: Metal(Znic alloy)
— —_— [ [ Positions
‘_’ r - £7.00 1 09: 9pin
! 24.95 ! 16.00 : ___ 1 :
351.80 I I
47.00 ]
= #9.00
56.1 $4.0 ‘ L 2
oF | 95.0 | |
97.0 _
9.0
'T - 3
‘,
il 5
4
BOM LIST
ITEM | PART NAME Q'ty NOTES
1 SCREW 3 |M3,Steel,Plating Nickel &2
2 |UP METAL HOOD 1 |Znic alloy,Plating Matt—Ni = 5
3 |LONG BOLT 2 |UNC#4—40,Steel Plating Nickel GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION @6 TITLE D-SUB 99[6|°nt;\//lpeetal Hood
. UNITS mm
i i —Ni X. £0.60 X. %5
4 |DOWN METAL HOOD| 1 |Znic alloy,Plating Matt—Ni X ioSe % i SHEET SIZE v TS | DST047-01T SERIES
5 ISR 4 |Black,TPR,UL94 V-0 .
XX £0.25 XX £2 =
6 |NUT 3 |M3,Steel,Plating Nickel DRAWING TYPE [COSTOMER = ﬂ EE ? ﬁ‘ IKE /Z_\\ ﬁ'l
SCALE 1:1 |SHEET [1 OF 1
DRAW|NG NO. C—-DS1047—01—-09XX—X—B CCII'II'IFLY® CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


1 2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A |NEW RELEASE YCH 03/31/11’ ~— LIC 03/31/11°
B |ADD P/N CODE YCH 12/07/13 ~
NOTES:
1. METAL HOOD MATERIAL: Znic alloy
h - — 2. PART NUMBER CODE:
m ) DS1047-01 — 15 X X — X
: = = 2 2 L1060 support
@ ‘ P _ | | X: W/0 LOGO
| 774} | — | N/A: CONNFLY LOGO
Kﬁ]é]ﬂ:hU@j 5 Packing type
3l o 1: Mix packing
‘ 7 IS | —— 25.00 ! 2: Separation packing
¥ ‘ o | ‘ " 2 ‘ Cover Material
L p ?, i M: Metal(Znic alloy)
¢ 9 I Positions
[ [ 15: 15pi
}L* | *_I'. u] 1 pin
! 33.32 !
40.00
56.40
65.4
- — 5
"-;J
BOM LIST
ITEM | PART NAME Q'ty NOTES
1 SCREW 3 [M3,Steel,Plating Nickel
2 |UP METAL HOOD 1 |Znic alloy,Plating Matt—Ni GENERAL TOLERANCE| ANGLE TOLERANCE [PROJECTION @6 TITLE D-SUB 15pin Metal Hood
3 |LONG BOLT 2 |UNC#4—40,Steel,Plating Nicke X.  +0.60 X, 45 UNITS mm 90° type
4 DOWN METAL HOOD 1 Znic alloy,Plating Matt—Ni X *0.38 X £3 SHEET SIZE A4 SERIES | DS1047—-01 SERIES
5 SR 4 Black,TPR,UL94 V-0 XX $0.25 XX £2 =] ;ﬂj EE ? ﬁ‘ IKE /\ ﬂ
6 |NUT 3 |[M3,Steel Plating Nickel DRAWING TYPE | COSTOMER fx 4N H
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. C-DS1047—01—15XX—X—B CCII'II'IFLY® CONNFLY ELECTRONIC CO., LTD

N

4

| 5

6

7 | 8



Administrator
新建图章


1 2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED A
A |NEW RELEASE YCH 03/31/11’ N LC 03/31/11°
ADD P/N CODE YCH 12/07/13 ~
NOTES: B
1. METAL HOOD MATERIAL: Znic alloy
2. PART NUMBER CODE: B
ﬁj DS1047-01 — 25 X X — X
| LLOGO Support
— pp
' i —_— / — 94.00 X: W/O LOGO
s :% ) = B* | N/A: CONNFLY LOGO
[ — [ Packing type
ASEHeS — | 3lo K /é — 1: Mix packing
3|13 2: Separation packing |C
I ‘ I " | - —_ 2500 ——Cover Material
{ ‘ ] M: Metal(Znic alloy)
T I ] | ——— Positions |
T - = ‘ i U= 1 25: 25pin
47.04 D
54.07
70.40
79.40 ]
E
! 5
F
BOM LIST
ITEM | PART NAME Q'ty NOTES
1 SCREW 3 |[M3,Steel,Plating Nickel G
2 |UP METAL HOOD 1 |Znic alloy,Plating Matt—Ni
3 [LONG BOLT 2 |UNC#4—40,Steel,Plating Nicke GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @G TITLE D-SUB 25pin Metal Hood
4 |DOWN METAL HOOD| 1 |Znic alloy,Plating Matt—Ni X. +0.60 X. +5 UNITS mm 90° type -
5 |SR 4 |Black,TPR,UL94 V-0 X £0.38 X x3 SHEET SIZE A4 SERIES |DS1047—O1 SERIES
6 |NUT 3 |M3,Stesl,Plating Nickel XX +0.25 XX 2 - I =
DRAWING TYPE [COSTOMER I ﬂ} EE ? ﬁ IEE A ﬂ
SCALE 1:1 |SHEET [1 OF 1 o H
DRAWING NO. [C—DS1047—01—25XX—X—A connFLY® CONNFLY ELECTRONIC CO,, LTD
1 2 3 4 | 5 6 I I 8



Administrator
新建图章


1 2 3 4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A |NEW RELEASE YCH 03/31/11' A~ LJIC 03/31/11°
B [ADD P/N CODE YCH 12/07/13 ~

63.50

70.07

86.40

95.4

44.00
32.90

NOTES:

1. METAL HOOD MATERIAL: Znic alloy
2. PART NUMBER CODE:

DS1047-01

- 37 XX - X

bLOGO Support
X: W/0 LOGO
N/A: CONNFLY LOGO
Packing type
1: Mix packing
2: Separation packing

Cover Material
M: Metal(Znic alloy)
Positions

37: 37pin

BOM LIST
ITEM | PART NAME Qty | NOTES
1 SCREW 4 |M3,Steel,Plating Nickel
2 |UP METAL HOOD 1 |Znic alloy,Plating Matt—Ni
3 |LONG BOLT 2 |UNC#4-40,Steel,Plating Nicke
4 |DOWN METAL HOOD| 1 |Znic alioy,Plating Mott—Ni GENERAL TOLERANCE| ANGLE TOLERANCE |PROJECTION | @& | TITLE D-SUB 37pin Metal Hood
5 SR 4 Black,TPR,UL94 V-0 o
- . 5 UNITS mm 90° type
6 |[NUT 4 |M3,Steel,Plating Nickel X. £0.60 X. 5
X +0.38 X +3 SHEET SIZE A4 | SERIES | DS1047-01 SERIES
XX +0.25 XX 2
»
DRAWING TYPE |COSTOMER Jt% ﬂj EE % ﬁ‘ I}E /Z_\\ ﬁ'l
SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. |C—DS1047—01—37XX—X—A connFLY CONNFLY ELECTRONIC CO. LTD
1 2 3 4 [ 5 6 I 7 I 8



Administrator
新建图章


